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Note: All questions are compulsory. Marks are indicated against each question in square

brackets.

- QL. (2) Define mesh, loop and path in electrical circuit analysis. Are the branchg

65 shown with
heavy lines in Fig.1 below making a mesh, loop or path? Provide expléih{éi’tigt}_ for your
answer. . o[c0o2,2M)

(b) What is supermesh concept and procedure to solve a supermesh- mrcmt" For the given
supermesh circuit in Fig.2 below, determine three mesh currentsy, iy, dnd is. [CO2,2M)

Q2.(a) Define superposition theorcm Give two examples each of linear elements and nonlinear

elements. Sy . [CO3, 2M]
(b) Findvin Flg3 belo:;v’ilsing superposition theorem. [CO3, 4M])
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Q3.(a) In Fig.4, Consider 1K as the load resistance i.e., Ry, =1 k2 Then Find V,, the voltage

drop across 1kQ resistor by first finding the Thevenin equivalent circuit. [CO3, 4M]
(b) In Fig.5, Find R, for maximum power transfer and the maximum power transferred to R,
in the circuit given below. [CO3, 3M]
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Q4.(a) Prove that energy stored in the inductor is. ' S [CO3,
wi(t) =% Li* -

(b} With the assumption that the switch in the given circuit has been closed a long, long, long

time, calculate ir,(t) at (i) the instant just before the switch opens; (ii) t=78.8 us. [CO3, 2M]
i=0
. : li
Fig. 6
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(c) The voltage acrc;'ss.the_ capacitor of 12uF is shown in the given figure. Draw the wave form for the
cutrent in the capacitor.
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